OPxxx

v Insulation resistance at 50VDC >10GQ
v Capacitance at 1MHz <15pF
v Impulse life wave 10/100us, 100A 300 operations
v nom. impulse discharge current wave from 8/20us, 10KA 10 operations
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Part No DC spark-over voltage | Impulse spark-over voltage
) V) at 1kV/us
OP 090 90+20% <650V
OP 145 145+20% <650V
OP 150 150+£20% <700V
OP 230 230+20% <900V
OP 350 350+20% <900V
OP 400 400£20% <950V
OP 470 470£20% <1000V
OP 550 550£20% <1200V
OP 600 600+20% <1300V
OP 700 700+20% <1500V
OP 800 800+20% <1500V






